www.allabtengg.com




www.allabtengg.com

1L

12.

13.

14.

(a)

()
(@)

(®)

(@)

(b)

(a)

* a pipe of 400 mm internal dia

PART B — (5 x 13 = 65 marks)

'A temtn 5 m long is made up ﬁo parts, 3 metre of its length has

the remammg 2 m has a Cross-

; ﬁe same length and havmg the
Take E=2x10" N/mm?®.

jint loads of 160 kN and 120 kN
left end A. Find the fixed end
v B.M and S.F. diagrams.

d on B'and C. The beam carries a

jon for crippling load when one end of the column is

fixed ani the other end is force.
Or

Determmethemammum and minimt

‘hoop stress across the section of
100 mm thick, when the pipe
contains a fluid at a pressure o mm>. Also sketch the radial
pressure distribution and hoop sm dié&:ibutzon across the section.

At a point in a strained mat:ermi.~ piane BC there are normal and
shear stresses of 560 N/mm* and m* respectively. On plane AC,
perpendicular to plane BC, there are normal and shear stresses of
280 N/mm® and 140 N/mm® respectively as shown in Fig. below,
Determine the following : ) ?
(i) Principal stresses and location of the planes on which they act.
(ii) Maximum shear stress. :
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